# Fixed Point Theorem in Fuzzy Metric Space with Implicit relation

Alok Asati<sup>#1</sup>, A.D.Singh<sup>\*2</sup>, Madhuri Asati<sup>#3</sup>

<sup>#1</sup> Department of Mathematics, Govt.M.V.M, Bhopal (India)
 <sup>\*2</sup> Department of Mathematics, Govt.M.V.M, Bhopal (India)
 <sup>#3</sup> Department of Applied Science, SKSITS, Indore (India)

Abstract— This paper presents some common fixed point theorem for compatible type  $(\beta)$  mapping in fuzzy metric space. Our result generalizes the result of I.Altun and D.Turkoglu [6].

*Keywords*— Common Fixed Points, Fuzzy Metric Space, Compatible map, Compatible maps of type ( $\beta$ ), Weak compatible maps, Implicit relation. Put your keywords here, keywords are separated by comma.

#### I. INTRODUCTION

The concept of fuzzy sets was introduced by Zadeh [9], in 1965, as a new way to represent the vagueness in every day life. In mathematical programming problems are expressed as optimizing some goal function given certain constraints, and there are real life problems that consider multiple objectives.Genrally it is very difficult to get a feasible solution that brings us to the optimum of all objective functions. A possible method of resolution, that is quite useful is the one using fuzzy sets [4]. It was developed extensively by many authors and used in various fields to use this concept in topology and analysis several researcher have been defined fuzzy metric space in various ways [3, 7, 8, 10, 11, 14, 17, 19, 21].George and Veeramani [1] modified the concept of fuzzy metric space introduced by Kramosil and Michalek [13] in order to get the Hausdorff topology. Jungck [5] introduced the notion of compatible maps for a pair of self mapping.Mishra et al. [16] obtained common fixed point theorems for contractive-type maps on metric spaces and other spaces.Popa [18] proved theorem for weakly compatible non-continuous mapping using implicit relation. In 2008 I.Altun and D.Turkoglu [6] proved common fixed point theorem on FM space with an implicit relation. In this paper a fixed point theorem has been established using the concept of compatible maps of type ( $\beta$ ) which generalized the result of some standard result on fuzzy metric space.

# **II. PRELIMINARIES**

**Definition 2.1** [2] A binary operation  $*:[0,1] \times [0,1] \rightarrow [0,1]$  is called a continuous t norm if ([0,1],\*) is an abelian topological monoid with unit 1 such that  $a*b \le c*d$  whenever  $a \le c$  and  $b \le d$   $a,b,c,d \in [0,1]$ . Example of t-norms are a\*b = ab and  $a*b = \min\{a,b\}$ .

Definition 2.2 [1] A Triplet (X, M, \*) is called a fuzzy metric space if X is an arbitrary set, \* is a continuous t-norm and M is a fuzzy set on

- $X^2 \times [0, \infty)$  satisfying the following conditions: for all  $x, y, z \in X$  and t, s > 0,
  - (i) M(x, y, 0) = 1,
  - (ii) M(x, y, t) = M(y, x, t),
  - (iii) M(x, y, t) = 1 for all t > 0 if and only if x = y,
  - (iv)  $M(x, y, \cdot): [0, \infty) \rightarrow [0, 1]$  is left continuous,
  - (v)  $M(x, y, t) * M(y, z, s) \le M(x, z, t+s)$ ,
  - (vi)  $\lim M(x, y, t) = 1$

Note that M(x, y, t) can be considered as the degree of nearness between x and y with respect to t. We identify x = y with M(x, y, t) = 1 for all t > 0.

**Definition 2.3** [2] Let (X, d) be a metric space. Define  $a * b = \min\{a, b\}$  and  $M(x, y, t) = \frac{t}{t + d(x, y)}$  for all  $x, y \in X$  and all

t > 0. Then (X, M, \*) is a fuzzy metric space. It is called the fuzzy metric space induced b the metric d.

Definition 2.4 [1] Let (X, M, \*) be a fuzzy metric space. Then

(i) A sequence  $\{x_n\}$  in X is said to converges to x in X if for each  $\in >0$  and each t > 0, there exists  $n_0 \in \mathbb{N}$  such that  $M(x_n, x, t) > 1 - \in$  for all  $n \ge n_0$ .

(ii) A sequence  $\{x_n\}$  in X is said to be Cauchy if for each  $\,\in\,>0$  and each t>0, there exists

 $\mathbf{n}_0 \in \mathbf{N}$  such that  $\mathbf{M}(\mathbf{x}_n, \mathbf{x}_m, t) > 1 - \in \text{ for all } n, m \ge n_0$ .

(iii) A fuzzy metric space in which every Cauchy sequence is convergent is said to be complete.

**Definition 2.5** [18] Let  $\phi$  be the set of real and continuous function:

 $\phi$  : (R<sup>+5</sup>)  $\rightarrow$  R, non decreasing in the first, second, third, fourth, fifth argument satisfying the following conditions

$$\phi(\mathbf{u},\mathbf{v},\mathbf{u},\mathbf{v},\mathbf{v}) \leq 0, \quad \mathbf{u} \leq \mathbf{v}.$$

Example:  $\phi(t_1, t_2, t_3, t_4, t_5) = \min(t_2, t_3, t_4, t_5) - t_1$ 

**Definition 2.6** [15] Let F and G be maps from a fuzzy metric space (X, M, \*) into itself. The maps F and G are said to compatible if

$$\lim_{n \to \infty} M(FGx_n, GFx_n, t) = 1$$

For all t > 0 whenever  $\{X_n\}$  is a sequence in X such that

$$\lim_{n\to\infty} Fx_n = \lim_{n\to\infty} Gx_n = z \text{ for some } z \in X .$$

**Definition 2.7** [15] Let F and G be maps from a fuzzy metric space (X, M, \*) into itself. The maps F and G are said to compatible of type  $(\beta)$  if

$$\lim M(FFx_n, GGx_n, t) = 1$$

For all t > 0 whenever  $\{X_n\}$  is a sequence in X such that

$$\lim_{n \to \infty} Fx_n = \lim_{n \to \infty} Gx_n = z \text{ for some } z \in X.$$

**Definition 2.8** [2] A pair (F, G) of self –map of a fuzzy metric space is said to be weak compatible if F and G commute at their coincidence points i.e. For  $x \in X$  if Fx = Gx then FGx = GFx.

**Proposition 2.9** [15] Let (X, M, \*) be a fuzzy metric space and F and G be continuous maps from X into itself. Then F and G are said to compatible if they are compatible of type (B).

**Proposition 2.10**[15] Let (X, M, \*) be a fuzzy metric space and F and G be maps from X into itself. Then F and G are compatible of type  $(\beta)$  and Fz = Gz for some  $z \in X$ , then FGz = GGz = GFz = FFz.

**Proposition 2.11** [15] Let (X, M, \*) be a fuzzy metric space and F and G be compatible of type  $(\beta)$  from X into itself. Let  $\{X_n\}$  is a sequence in X such that

$$\lim_{n\to\infty} Fx_n = \lim_{n\to\infty} Gx_n = z \text{ for some } z \in X .$$

Then we have the following:

- (i)  $\lim_{n \to \infty} GGx_n = Fz$  if F is continuous at z,
- (ii)  $\lim FFx_n = Gz$  if G is continuous at z,
- (iii) FGz = GFz and Fz = Gz if F and G are continuous at z.

*Lemma 2.12 [18]* Let (X, M, \*) be a fuzzy metric space. If there exists k > 1 such that for all  $x, y \in X$ ,  $M(x, y, kt) \leq M(x, y, t) \forall t > 0$ , then x = y.

*Lemma 2.13 [12]* Let (X, M, \*) be a fuzzy metric space. Then for all  $x, y \in X, M(x, y, \cdot)$  is a non-decreasing function.

*Lemma 2.14* [18] Let  $\{X_n\}$  be a sequence in a fuzzy metric space (X, M, \*). If there exists a number k > 1 such that

 $M\left(\boldsymbol{X}_{n},\boldsymbol{X}_{n+1},kt\right) \leq M\left(\boldsymbol{X}_{n+1},\boldsymbol{X}_{n+2},t\right) \; \forall \;\; t > 0 \; \text{and} \; n \in \; N \; \text{then} \; \left\{\boldsymbol{X}_{n}\right\} \text{ is a Cauchy sequence in } X.$ 

 $\textit{Lemma 2.15 [12] The only t-norm * satisfying r * r \ge r for all r \in [0, 1] is the minimum t-norm, that is a b = min \{a, b\} for all a, b \in [0, 1].$ 

#### III. MAIN RESULTS

**Theorem 3.1** Let (X, M, \*) be a complete fuzzy metric space and let A, B, S, T, P and Q be mappings from X into itself such that the following conditions are satisfied:

- (a)  $P(X) \subset ST(X), Q(X) \subset AB(X),$
- (b) One of P or AB is continuous,
- (c) PB = BP, ST = TS, AB = BA, QT = TQ,
- (d) The pair (P, AB) is compatible maps of type ( eta ) and the pair (Q, ST) is weak compatible,
- (e) There exists k > 1 such that for every x,  $y \in X$  and t > 0

$$\phi \left[ M(ABx, STy, kt), M(Px, Qy, t), M(Px, ABx, kt), M(Qy, STy, t), M(Px, STy, t) \right] \le 0$$

Then A, B, S, T, P and Q have a unique common fixed point in X.

**Proof:** Let  $x_0 \in X$  be an arbitrary point in X. construct sequences  $\{X_n\}$  and  $\{y_n\}$  in X such that

$$Px_{2n} = STx_{2n+1} = y_{2n+1}$$
 and  $Qx_{2n+1} = ABx_{2n+2} = y_{2n+2}$ ;  $n = 0, 1, 2, --$ 

# Step 1

Letting  $n \to \infty$ 

Put  $x = x_{2n}$  and  $y = x_{2n+1}$  in equation (e), we get

$$\phi \begin{bmatrix} M(ABx_{2n}, STx_{2n+1}, kt), M(Px_{2n}, Qx_{2n+1}, t), M(Px_{2n}, ABx_{2n}, kt), \\ M(Qx_{2n+1}, STx_{2n+1}, t), M(Px_{2n}, STx_{2n+1}, t) \end{bmatrix} \le 0$$
  
$$\phi \begin{bmatrix} M(y_{2n}, y_{2n+1}, kt), M(y_{2n+1}, y_{2n+2}, t), M(y_{2n+1}, y_{2n}, kt), \\ M(y_{2n+2}, y_{2n+1}, t), M(y_{2n+1}, y_{2n+1}, t) \end{bmatrix} \le 0$$

$$\phi \Big[ \mathbf{M} \Big( \mathbf{y}_{2n}, \mathbf{y}_{2n+1}, \mathbf{kt} \Big), \mathbf{M} \Big( \mathbf{y}_{2n+1}, \mathbf{y}_{2n+2}, \mathbf{t} \Big) , \mathbf{M} \Big( \mathbf{y}_{2n}, \mathbf{y}_{2n+1}, \mathbf{kt} \Big), \mathbf{M} \big( \mathbf{y}_{2n+1}, \mathbf{y}_{2n+2}, t \big), 1 \Big] \le 0$$

 $\phi$  is non-decreasing in fifth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{y}_{2n}, \mathbf{y}_{2n+1}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{y}_{2n+1}, \mathbf{y}_{2n+2}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{y}_{2n}, \mathbf{y}_{2n+1}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{y}_{2n+1}, \mathbf{y}_{2n+2}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{y}_{2n+1}, \mathbf{y}_{2n+1}, \mathbf{t} \big) \Big] \leq 0$$

Therefore by the definition of implicit relation (2.5)

$$M(y_{2n}, y_{2n+1}, kt) \le M(y_{2n+1}, y_{2n+2}, t)$$

Similarly we have

$$M(y_{2n+1}, y_{2n+2}, kt) \le M(y_{2n+2}, y_{2n+3}, t)$$

Thus we have

$$M(y_n, y_{n+1} kt) \le M(y_{n+1}, y_{n+2}, t)$$

Therefore lemma (2.14)  $\{y_n\}$  is a Cauchy sequence in X.

Since (X, M, \*) is complete,  $\{Y_n\}$  converges to some point  $z \in X$ . Also their subsequence converges to the same point. i.e.  $z \in X$ 

 $i.e. \; \{Px_{2n}\} \rightarrow z \; and \; \{ABx_{2n}\} \rightarrow z \; and \; \{Qx_{2n+1}\} \rightarrow z \; and \; \{ST_{2n+1}\} \rightarrow z$ 

#### Case 1

Let P is continuous. Since P is continuous, we have

$$PABx_{2n} \rightarrow Pz$$
 and  $PPx_{2n} \rightarrow Pz$ 

As (P, AB) is compatible pair of type  $(\beta)$  therefore we have

$$ABABx_{2n} \rightarrow Pz$$

#### Step 2

Put  $\mathbf{X} = AB\mathbf{X}_{2n}$  and  $\mathbf{Y} = X_{2n+1}$  in equation (e)

$$\phi \begin{bmatrix} M(ABABx_{2n},STx_{2n+1},kt), M(PABx_{2n},Qx_{2n+1},t), \\ M(PABx_{2n},ABABx_{2n},kt), M(Qx_{2n+1},STx_{2n+1},t), M(PABx_{2n},STx_{2n+1},t) \end{bmatrix} \leq 0$$

$$\phi \begin{bmatrix} M(Pz,z,kt), M(Pz,z,t), M(Pz,Pz,kt), M(z,z,t), M(Pz,z,t) \end{bmatrix} \leq 0$$

Let

$$\Phi\left[\mathbf{M}(\mathbf{Pz}, z, \mathbf{kt}), \mathbf{M}(\mathbf{Pz}, z, t), \mathbf{M}(\mathbf{Pz}, \mathbf{Pz}, \mathbf{kt}), \mathbf{M}(z, z, t), M(\mathbf{Pz}, z, t)\right] \leq 0$$
  
$$\phi\left[\mathbf{M}(\mathbf{Pz}, z, \mathbf{kt}), \mathbf{M}(\mathbf{Pz}, z, t), 1, 1, M(\mathbf{Pz}, z, t)\right] \leq 0$$

 $\phi$  is non-decreasing in third and fourth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{Pz}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{Pz}, \mathbf{z}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{Pz}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{Pz}, \mathbf{z}, \mathbf{t} \big), M \big( \mathbf{Pz}, \mathbf{z}, \mathbf{t} \big) \Big] \le 0$$

Therefore by the definition of implicit relation (2.5)

$$M(Pz, z, kt) \leq M(Pz, z, t)$$

Therefore using lemma 2.12 we get

Pz = z

Step 3

As  $P(X) \subseteq ST(X)$  , there exists  $w \in X$  such that

$$z = Pz = STw$$

We put  $x = x_{2n}$ , y = w in (e) we get

$$\phi \left[ M(ABx_{2n}, STw, kt), M(Px_{2n}, Qw, t), M(Px_{2n}, ABx_{2n}, kt), M(Qw, STw, t), M(Px_{2n}, STw, t) \right] \leq 0$$
  
Letting  $n \to \infty$ 

International Journal of Mathematics Trends and Technology – Volume 9 Number 2 – May 2014

$$\phi \Big[ \mathbf{M} \big( z, z, \mathrm{kt} \big), \mathbf{M} \big( z, \mathbf{Q}w, t \big), \mathbf{M} \big( z, z, \mathrm{kt} \big), \mathbf{M} (\mathcal{Q}w, z, t), \mathcal{M} (z, z, t) \Big] \leq 0$$
$$\phi \Big[ 1, \mathbf{M} \big( z, \mathbf{Q}w, t \big), 1, \mathbf{M} (\mathcal{Q}w, z, t), 1 \Big] \leq 0$$

 $\phi$  is non-decreasing in first, third and fifth argument

$$\phi \Big[ \mathbf{M} \big( z, \mathbf{Q}w, \mathbf{k}t \big), \mathbf{M} \big( z, \mathbf{Q}w, t \big), \mathbf{M} \big( z, \mathbf{Q}w, \mathbf{k}t \big), \mathbf{M} \big( z, \mathbf{Q}w, z, t \big), \mathbf{M} \big( z, \mathbf{Q}w, t \big) \Big] \leq 0$$

Therefore by the definition of implicit relation (2.5)

$$\mathbf{M}(\mathbf{z},\mathbf{Q}\mathbf{w},\mathbf{k}\mathbf{t}) \leq \mathbf{M}(\mathbf{z},\mathbf{Q}\mathbf{w},\mathbf{t})$$

Therefore using lemma 2.12 we get

z = QwHence STw = Qw = z .As (Q, ST) is weak compatible we have Qz = STz

# Step 4

Taking  $x = x_{2n}$ , y = z in (e) we get

$$\phi \Big[ M \big( ABx_{2n}, STz, kt \big), M \big( Px_{2n}, Qz, t \big), M \big( Px_{2n}, ABx_{2n}, kt \big), M (Qz, STz, t), M (Px_{2n}, STz, t) \Big] \le 0$$

Letting 
$$n \rightarrow \infty$$

$$\phi \Big[ \mathbf{M} \big( \mathbf{z}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{z}, \mathbf{Qz}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{z}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} (\mathbf{z}, \mathbf{z}, t), \mathbf{M} (\mathbf{z}, \mathbf{z}, \mathbf{t}) \Big] \leq 0$$
  
$$\phi \Big[ \mathbf{1}, \mathbf{M} \big( \mathbf{z}, \mathbf{Qz}, \mathbf{t} \big), \mathbf{1}, \mathbf{M} (\mathbf{Qz}, \mathbf{z}, t), \mathbf{1} \Big] \leq 0$$

 $\phi$  is non-decreasing in first, third and fifth argument

$$\phi \Big[ \mathbf{M}(Qz, z, \mathrm{kt}), \mathbf{M}(Qz, z, \mathrm{t}), \mathbf{M}(Qz, z, \mathrm{kt}), \mathbf{M}(Qz, z, t), \mathbf{M}(Qz, z, t) \Big] \leq 0$$

Therefore by the definition of implicit relation (2.5)

$$M(Qz, z, kt) \le M(Qz, z, t)$$

Therefore using lemma 2.12 we get

Qz = z

Thus Pz = Qz = STz = z

Since  $Q(X) \subseteq AB({\rm X})$  there exists  $v \in X$  such that

$$z = Qz = ABv$$

Step 5

Taking x = v, y = z in (e) we get

$$\phi \Big[ M \Big( ABv, STz, kt \Big), M \Big( Pv, Qz, t \Big), M \Big( Pv, ABv, kt \Big), M (Qz, STz, t), M (Pv, STz, t) \Big] \le 0$$

Letting  $n \rightarrow \infty$ 

$$\phi \Big[ \mathbf{M} \big( z, z, \mathrm{kt} \big), \mathbf{M} \big( \mathrm{Pv}, z, \mathrm{t} \big), \mathbf{M} \big( \mathrm{Pv}, z, \mathrm{kt} \big), \mathbf{M} (z, z, t), M (\mathrm{Pv}, z, \mathrm{t}) \Big] \leq 0$$
  
$$\phi \Big[ \mathbf{1}, \mathbf{M} \big( \mathrm{Pv}, z, \mathrm{t} \big), \mathbf{M} \big( \mathrm{Pv}, z, \mathrm{kt} \big), \mathbf{1}, M (\mathrm{Pv}, z, \mathrm{t}) \Big] \leq 0$$

 $\phi$  is non-decreasing in first and fourth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{Pv}, z, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{Pv}, z, t \big), \mathbf{M} \big( \mathbf{Pv}, z, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{Pv}, z, t \big), M \big( \mathbf{Pv}, z, t \big) \Big] \le 0$$

Therefore by the definition of implicit relation (2.5)

$$M(Pv, z, kt) \leq M(Pv, z, t)$$

Therefore using lemma 2.12 we get

$$Pv = z$$

Thus Pv = ABv = z. As (P, AB) is compatible type  $(\beta)$  and so it is weak compatible. We get Pz = ABz. Therefore Pz = ABz = Qz = STz = z. **Case 2** Let AB is continuous. Since AB is continuous and (P, AB) is compatible type  $(\beta)$  we get

$$\{ABPx_{2n}\} \rightarrow ABz, \{AB\}^2 x_{2n} \rightarrow ABz \text{ and } \{P\}^2 x_{2n} \rightarrow ABz$$

# Step 6

Taking  $x = Px_{2n}$ ,  $y = x_{2n+1}$  in (e) we get

$$\phi \begin{bmatrix} M(ABPx_{2n}, STx_{2n+1}, kt), M(PPx_{2n}, Qx_{2n+1}, t), \\ M(PPx_{2n}, ABPx_{2n}, kt), M(Qx_{2n+1}, STx_{2n+1}, t), M(PPx_{2n}, STx_{2n+1}, t) \end{bmatrix} \le 0$$

Letting  $n \rightarrow \infty$ 

$$\phi \Big[ M (ABz, z, kt), M (ABz, z, t), M (ABz, ABz, kt), M (z, z, t), M (ABz, z, t) \Big] \le 0$$
  
$$\phi \Big[ M (ABz, z, kt), M (ABz, z, t), 1, 1, M (ABz, z, t) \Big] \le 0$$

 $\phi$  is non-decreasing in third and fourth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{ABz}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{ABz}, \mathbf{z}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{ABz}, \mathbf{z}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{ABz}, \mathbf{z}, \mathbf{t} \big) \Big] \le 0$$

Therefore by the definition of implicit relation (2.5)

$$M(ABz, z, kt) \leq M(ABz, z, t)$$

Therefore using lemma 2.12 we get

$$ABz = z$$

As in step 5 we get Pz = zHence Pz = ABz = zHence by step 3 and step 4 it follows that Pz = STz = Qz = z. Thus in both the case we have Pz = Qz = ABz = STz = z. Step 7

Taking x = z, y = Tz in (e) we get

$$\phi \Big[ M \big( ABz, ST(Tz), kt \big), M \big( Pz, QTz, t \big), M \big( Pz, AB(Tz), kt \big), M (Q(Tz), ST(Tz), t), M (Pz, ST(Tz), t) \Big] \leq 0$$
  
As  $QT = TQ$  and  $ST = TS$   
We have  $ST(Tz) = Tz$  and  $Q(Tz) = Tz$   
Letting  $n \to \infty$   
$$\phi \Big[ M \big( z, Tz, kt \big), M \big( z, Tz, t \big), M \big( z, z, kt \big), M (Tz, Tz, t), M (z, Tz, t) \Big] \leq 0$$

$$\phi \Big[ \mathbf{M}(\mathbf{z}, \mathbf{T}\mathbf{z}, \mathbf{k}\mathbf{t}), \mathbf{M}(\mathbf{z}, \mathbf{T}\mathbf{z}, \mathbf{t}), \mathbf{1}, \mathbf{1}, \mathbf{M}(\mathbf{z}, \mathbf{T}\mathbf{z}, \mathbf{t}) \Big] \leq 0$$

 $\phi$  is non-decreasing in third and fourth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{z}, \mathbf{T} \mathbf{z}, \mathbf{k} \mathbf{t} \big), \mathbf{M} \big( \mathbf{z}, \mathbf{T} \mathbf{z}, \mathbf{t} \big), \mathbf{M} \big( \mathbf{z}, \mathbf{T} \mathbf{z}, \mathbf{k} \mathbf{t} \big), \mathbf{M} \big( \mathbf{z}, \mathbf{T} \mathbf{z}, \mathbf{t} \big) \Big] \leq 0$$

Therefore by the definition of implicit relation (2.5)

$$M(z,Tz,kt) \leq M(z,Tz,t)$$

Therefore using lemma 2.12 we get

$$z = Tz$$

Now STz = z and Tz = z gives Sz = z

Step 8

**Uniqueness:** Let u be another common fixed point of A, B, S, T, P, and Q then Au = Bu = Pu = Qu = Su = Tu = uTaking x = v, y = u in (e) we get

$$\phi \Big[ M \big( ABv, STu, kt \big), M \big( Pv, Qu, t \big), M \big( Pv, ABv, kt \big), M (Qu, STu, t), M (Pv, STu, t) \Big] \leq 0$$

Letting  $n \to \infty$ 

$$\phi \Big[ \mathbf{M} \big( \mathbf{v}, \mathbf{u}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{v}, u, \mathbf{t} \big), \mathbf{M} \big( \mathbf{v}, \mathbf{v}, \mathbf{kt} \big), \mathbf{M} (u, u, t), M (v, u, \mathbf{t}) \Big] \leq 0$$
  
$$\phi \Big[ \mathbf{M} \big( \mathbf{v}, \mathbf{u}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{v}, u, \mathbf{t} \big), 1, 1, M (v, u, \mathbf{t}) \Big] \leq 0$$

 $\phi$  is non decreasing in third and fourth argument

$$\phi \Big[ \mathbf{M} \big( \mathbf{v}, \mathbf{u}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{v}, u, \mathbf{t} \big), \mathbf{M} \big( \mathbf{v}, \mathbf{u}, \mathbf{kt} \big), \mathbf{M} \big( \mathbf{v}, u, \mathbf{t} \big) \Big] \leq 0$$

Therefore by the definition of implicit relation (2.5)

$$M(v,u,kt) \leq M(v,u,t)$$

Therefore using lemma 2.12 we get

$$v = u$$

Thus  $\mathcal{V}$  is the unique common fixed point of self maps A, B, S, T, P and Q.

# REFERENCES

[1] A. George and P. Veeramani, "On some results in Fuzzy metric spaces", Fuzzy Sets and Systems, vol. 64, pp. 395-399, 1994.

[2] B. Singh and M. S. Chauhan, "Common fixed points of compatible maps in fuzzy metric spaces", Fuzzy Sets and Systems, vol.115, pp. 471-475, 2000.

[3] B.E. Rhoades, "Contractive definitions and continuity", Contemporary Math., vol.72, pp.233-245, 1988.

[4] D.Turkoglu and B.E.Rhoades, "A fixed fuzzy point for fuzzy mapping in complete metric spaces", Math. Communication, vol.10 2, pp.115-121, 2005.

[5] G. Jungck, "Compatible mappings and common fixed points", International J. Math. Math. Sci., vol. (2), pp.285-288, 1988.

## International Journal of Mathematics Trends and Technology – Volume 9 Number 2 – May 2014

[6] Ishak Altun et al., "Some fixed point theorem on Fuzzy metric space with implicit relation", Commun Korean Math.Soc., vol.23, pp. 111-124,2008.

[7] I. Istratescu, "A fixed point theorem for mappings with a probabilistic contractive iterate", Rev. Roumaire. Math. Pure Appl., vol.26, pp. 431-435, 1981.

[8] I. Kramosil and J. Michalek, "Fuzzy metric and statistical metric spaces", Kybernetica, vol.11, pp.336-344, 1975.

[9] L. A. Zadeh, "Fuzzy sets, Inform. and Control", vol. 8, pp.338-353, 1965.

[10] M. Edelstein, "On fixed and periodic points under contraction mappings", J. London Math. Soc., vol. 37, pp.74-79, 1962.

[11] M. Grabiec, "Fixed points in fuzzy metric specs, Fuzzy Sets and Systems", vol. 27, pp. 385-389, 1988.

[12] O. Hadzic, "Common fixed point theorems for families of mapping in complete metric space", Math. Japon, vol.29, pp. 127-134, 1984.

[13] O.Kramosil and J.Michalek, "Fuzzy metric and statistical metric space", Kyber-netika (Praha), vol.11, pp.326-334, 1975.

[14] R.Vauski, "Common fixed points for R-weakly commuting maps in fuzzy metric space", Indian J. Pure Appl. Math, vol.30, pp.419-423, 1999.

[15] S. Kutukcu et al., "Common fixed point of compatible maps of type ( $\beta$ ) on fuzzy metric spaces", Commun.Korean Math. Soc., vol.21, No.1, pp. 89-100, 2006.

[16] S. N. Mishra, N. Sharma, and S. L. Singh, "Common fixed points of maps on fuzzy metric spaces", Internat. J. Math. Sci., vol.17, pp. 253-258, 1994.

[17] S.Sharma et al, "On compatible mappings satisfying an implicit relation in common fixed point consideration", Tamkang J. Math., vol.33, pp.245-252, 2002.

[18] V. Popa, "A general coincidence theorem for compatible multivalued mapping satisfying an implicit relation", Demons ratio Math., vol.33, pp.159-164, 2000.

[19] Y. J. Cho, S. Sedghi, and N. Shobe, "Generalized fixed point theorems for Compatible mappings with some types in fuzzy metric spaces", Chaos, Solitons and Fractals, vol.39, pp.2233-2244, 2009.

[20] Y.J. Cho, H.K. Pathak, S.M. Kang, J.S. Jung, "Common fixed points of compatible maps of type  $(\beta)$  on fuzzy metric spaces", Fuzzy Sets and Systems, vol.93, pp.99-111, 1998.

[21] Z. K. Deng, "Fuzzy pseudo- metric spaces", J. Math. Anal. Appl., vol.86, pp.74-95, 1982.